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Instructions for the candidates:

1. ol ger wva 3 St & & gnv 2

. Candidales are required to give their answers in their own words as far as practicable.

2 qIRA Ik afr gv 22 gv sF quiE Affe #va &
Figures in the right hand margin indicate full marks.

3. 3V gV U3 & IS geT BSGY 15 39 @ Sfofead wHg R 7y 8/
15 Minutes of extra lime has beepaibtied for the-candidates to read the questions carefully.

4. I¢ Jv7-93 5 @USl § 5\ GIE — V7 TS — § |
This question paper is divided into two sections — Section - A and Section - B.

5. @S~ H 35 qEGiiT FeT 8 W weT s 81 (1% @ o 1 3F MiRa &) g

- U 99 v T OMR- T YA ¥ 19 T Wel g9 Bl @It/ Fel dict 99 F W)
el Wt JBR & @R,/ T YTt/ &S,/ TG Sife @1 9TY gRa@r 3 I #e
T & e GO GRUT AT B

In Sectlon ~ A, there are 35 objective type questions which are compulsory, each carrying 1 mark.
Darken the circle with biue/black ball pen against the correct option on OMR Answer Sheet provided to you.
Do not use Whitener/Liquid/Blade/Nail etc. on OMR Sheet; otherwise the result will be Invalid.

6. @UE - dH 18 &Y TN F 8/ (IRF @ forv 2 3F [Feifa &) forw ® et 10 wer
a1 Fov & AT &) g sfaka g @ve # 6 gy weT 22 M (e @
fery 5 3@ [REifd &) fr @ faseft 3wt @1 gTe @91 sifard @)

In Section - B, there are 18 short answer type questions (each carrying 2 marks), out of which any 10

questions are to be answered. Apar! from this, there are 6 Long Answer Type questions (Each Carrying
5 marks), out of which any 3 questions are to be answered,

7. J¥E) WE P FAITIAE TUBT BT WA qufaar afa #)

Use of any electronic appliances is strictly prohibited.
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YUvs —37/ SECTION - A
TS 4% /Obiective Type Questions |
7wy 4 #35W$mm$wwﬁmﬁpwgw#wﬁﬁgfw
&R 7 77 e ey @ OMR- e W e w9 (35X1=35)

Question No. 1 to 35 have four options, out of which only one is correct, You have to mark your selected
t

aption, on the OMR - Sheet. © (35x1=35)
L e iR &t otk dar & -
A = (B) 9 3w
(C) g sfw D) I
- The resistance of ideal ammeter is - ,
(A) Zero (B) very small
infinite

(0) very large

a2 100V 7% SRR B T 6 R @ GRSl 10 @ o saRy A el e —

2
(A)  2xI10'F N B)  2x10*F
(C)  2xI10°F o D) 2x10%F
N
S
ot . . -
The stored energy, of @&pamtor charged to lOOWpamtance of the capacitor is -
@) 2x10'F O | 2x 10*F
(C)  2x10*F D)  2x10°F
3/ % fiyg @ el Refd 7 g fovg a1 @ioe & 8 -
| pcos® : I p
(A) dne, r’ (B) dme, 1l
I p
(O . D ¥
The ele¢tric potential in equatosial position of an electric dipole is -
] pcos® I p
N P ®
l .
(C) 4—1:5—% (D) Zero
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4. fPrafoRaa ¥ e svadaies ga9 s sar 87

(A) @ (B) O
(C) AreT (D) BRI

Which one of the followin_g has maximum refractive index?
glass | . (B} water
(C)  iron . -~ (D)  diamond
5. geargdt URT @ wete weg A R RreR ¥ @ o ¥ -

A 2 : . (B)

-

1
© 3 D 242

The ratio of root mean square (rms) value and peak value of an alternating current is -

. 1
A) V2 . ® 7
: N
© = D @ 242 -
2 N
» |
6. \ T TG @l s B R -
(A)  hch . . %
© ™ o X
c hc

The energy of a photon of wavelength A is -

h
(A)  hci | ® 3
ha - ™ =
- (C) - _ hc
‘ ﬁ“—ln J | _ Page3of 16 .

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

7. IEN @ ol o frgr smnRa @ -

(A)  arr @ Sl i W n)
() Mageaw - )

:Izc working of dynamo is based on the principle of -
) Heating ¢ffect of current (B)

Reg-~gamir IR R
AR faga ™

Electro — magnetic induction

Induced clectricity

2400 W

© Induced magnetism . (D)

8. 60W T 40W B ) ew R At ¥ Y ond, o) S wifer wfd gnft -
(A) 100 W (B)
©) W (D)

24 W

When two bulbs of power 60 W and 40 W are connected in serics, then the power of their

combipation will be - -
/w/ﬁloo W ®B)

<€ 30w (D)

2400 W
24w

9, wmmm%mw@w#m Nj &R N, @0 € oy —

> (A) Ni> N2 (B)
(& N =N; _ (D)

N2 >N,
Ni=0

yqr— up transformer, no. (zi @s In primary and s ndary coils are Ny and Ny, then -

N
©) Nl f - §® o
1=N Q\Q‘Z}- '- (D) Ni=0
0 g - e B
faem ~ aRuyr &) Bt 8 =
@A) VR . _  B) VAR
©). v . D) VR
R -
Power of an electric — circuit is - '
. (A) V.R ' |
( " . B VLR
Vi ‘ ()] V2Rt
"R
11
[ 71J Page 4 of 16
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12.

wﬁmuﬁwﬁuﬁmmamaﬁmmwlmmaﬂmﬂﬂmm—
(A) T cos ¢ (13) ltan ¢
(€ lsing ) lcos’d

Tn an alternating current circuit, the phase difference between current [ and voltage is @, then the
Wattless component of current will be -

(A) 1 cos ¢ _ﬂ/ tan ¢

(C) Isin ¢ . lcos® ¢

@%Mwmwwmaﬁaﬁmmm%lwmqﬁwwm
T TR0 GEOT, 98 B

(A) 245 m (B) 245 km
(©) 56 km (D) 112 km

The height of TV tower at a certain place is 245 m. The maximum distance up to which its

programme can be received is -
(/(M) 245 m _/QB‘1>(245 km

(C) S6km (D) 112 km
/13N amam s ¥ offf e e @ —
(A) & A \QQ ® o313 &=
(C) 1 TAT zﬁ'ﬁhi &6\ (D) 05 ¥ TSI e |
NG
N\
The modulation mdcx@mphmde modulation -
(A) is always zero (B) lies between 0 and |

( lies between 1 and ee (D) Can never exceed 0.5
ATER o BT WIER BT ST 8, G & 99 N P R FWA D o0 R F81 o & -
A) e - gftea B) < - ghewm

(C)  ufemifesm D) W - gfem

Cylindrical lenses are used to correct the eye defect called -

(A)  myopia - (B) hypermetropia
yq ' é\stigmatism presbyopia

[’117‘1J ' Page 5 of 16
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15 Mﬁmﬁasﬂﬁaﬁm.gﬁaﬁgqﬁmaﬂmﬁrmmw

(A)  n«Bp (B) n’ = B
. , ) l
o n b

(© o By @) B,

In earth’s magnetic field By, if the frequency of oscillation of 2 magnetic needie is n, then

_Vnmﬂn . B) 1By ;

2

1
(C) noc.BHQ . | M) * n ME

16. srygrara wert @ wfr @ -
4)  feR | ®) g
€ eFa | (D)

The susceptibility of paramagnetic substance is -

(A) Constant Q (B) Zero _
( Infinity %S’Q\Q (D) Depends on magnetic field
&
17 gﬁ%ﬁam@@wm—aﬁwzmwam%— )
(A) 0° : (B) 45°
| <€ 90° D  180°

The.value of angle of dip at the earth’s magnetic pole is -
A, o0 - (B)  45°

y/ 90° ®  180°

[117]:.1 ' Page 6 of 16
Download all NOTES and PAPERS at StudentSuvidh'a.com


http://studentsuvidha.com/
http://studentsuvidha.com/

18. +10pc T - 10pc & < g anW g § WER 40cm A T W & ¥ Fow A A

fufiw wot 8t -
A)  225] ' . ®)  235)
©  -225) D)  -2.35

ential energy of

Two point charges of + 10 pc and - 10 pic are placed at a distance 40 cm in air. Pot

the system will be -
(A)  225] @), 2.35]
©  -225) ' ‘g{ .235]
19. g & FHW P WA g @ - |
(A)  Ead @) s W
(C)  FI &N BT A D) TR 98 @
The solar spectrum is -

(B) Line spectrum

(A) Continuous
Spectrum of black bandst

(C) Spectrum of black lines’
20 WW%W@WW&WW%%—

S
A Lo &6 B) -foxle
(A) 3 \Q%
&Q
€ L Ny (D) -fo+fe
The magnifying power of an astronomical telescope for normal adjustment is -

o (B) -foxfe

——

f

(A). :
9/ _f D)  -fotfe
f, |

i
———
et
———
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2. NAND Y2 @ g wias @ -

(A)  Y=A+B M) YsAD
€ Y=A78 M) y=Al
The Boolean expression for NAND gate is -
(A) Y=A+B (") Y=AD
©  yv=2a+8B _/u‘n/ Y=AB
22. yam B W & RO P -
(A) T I B) g
) T Fa (D)  UH IH
Light 5 its colour to its -
. y/y:equcncy . (B) velocity
(C) phase (D) amplitude
"~
5
B. gwméaaﬁmﬁua@)gamwmﬂm o ERT AP ad — e} () o
7 g 8 - Q\Q
D) il BxM
) =MxBO ®) 1=BxM
© M D :-MB
==
"B

The torque (T) experienced by a current ~ loop of magnetic moment (M) placed in magneltic field

Bis/
Y T=MxB*" (B) T=BxM
(C) v — =
i=M @) i-M.B
B
[117]J
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24, a1 A alures o1 e Rk -

(A) 931 8| ' (B) Tl g
&
()  amRaffa zem 2 (D) U B V&
With the inerease of tc}nperature the resistivity of semiconductor -
M::cases. (B) decreases.
(C) remains constant. (D) becomes zero.

25. waﬂaa‘m(n:l.ﬁ)ﬂﬁwﬂ(n=|.33)ﬁ§am1m€.aaa§mmm%—

(A) U4 o B WE B) AU 9 W TE

© fre @ we (D)  ¥gae TV &l e

A convex leas (n = 1.5) is immersed in water (n = 1.33), then it will behave as a -
Averging lens (B) Diverging lens

(C) Prism (M Concave mirror

26. ﬂﬁ?fﬁﬂaﬁm'-lmg@&?n%ﬁmﬁhﬁwmﬂwmaﬂm{ﬁ
o
g — &

Q
(A)  -20cm @$ )u/-mcm

©) +10cm (D) +20cm

Equivalent focal length of two lenses in contact having power — 15 D and + 5 D will be -

(A) -20cm (B) -10cm
(C) o+ [0 cm (D) +20cm
(11714
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27. TP AR A 1 A R EIRA @ v R AR g @ amw 1.6 x 107°C &, A 9l ¥ve N A

yaifed goeRHl A wen R -
(A)  0.625x 10" B) 625x10"®
(C) 1.6x 101 (D) 1.6 % 10"

The current flowing in a wire is 1 A. If the charge of an electron is 1. 6 x 10"'°C, then the number of

electrons flowing through the wire per second is -
(A) 0,625 107 B 625x10°
(9/1.6x 1019 B M)  16x10"

28. m%wmwmﬁm%—

(A) gl /HedCm?) B) /e (Nm™)

(€  F@m/ae (CV ' (D) & - HeX (Cm)

Unit of surface charge density s - :

( Coulomb/metre? (B) Newton!meu'é

(C) Coulomb/Volt (D) Coulomb - metre
& '

2. Rl lia 99 S 7 g amde v e s, o vt g 3 Prrd e
e e Q\é@ . Wt o aren g
A  axe, & ® X

EO

£ ' ?

c = 1
© 3 ®

If + q charge is placed inside any spherical surface then total flux coming out from whole surface

will be -
(A) qxs; B - _,"B)/ a
: g,
£ 2
© 7 ® L
117] 4
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30. L-R 9R9I &1 wfd ove B @ -

R
A R+W ==
(A) +WL (B) JE: +W2 LE
n - WL
©) RVR*+W2 2 (D} —['{—"
The power factor of L - R circuit is -
R.
(A) R+WL L/(M/JRZ+W2 12
WL
() R4RI+W?2L2 ® =
3. T - g9 @ 3 weww A R o @ -
(A) B & ¥Wimw (B) E & JHiay
©  BxE ? wWiw D)  ExB 3 WOW®
The direction of pmpagation of electromagnetic wave is -
(A) Parallelto B. =+ . N (B)  Parallelto E
Parallel to BXE g\\g (D) Parallel to Ex B

S
&

Q
32. WWWW%—WWWWWWW%WWWW"
g | "'
(A) 3w (B) FTW
© s @) for W R

At constant potential difference, the resistance of any electric circuit is halved, the value of heat

produced will be -
(A)  half }py/double
.(C) fourtimes (D)  same
[117)J
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33. N TS T A R B AT TR o e fraee avn e @ -
(A)  (-nA B) (-DA
€ (@+na (D) (1 +n)A?

Deviation of a thin prism of refractive index n and angle of prism A is -

(A)  (1-mA /[B‘)/(n—l)A

© (m+DA D)  (1+nA?

34. mmﬁmmmmﬁmmmwaﬁamawm

¥
(A)" e 3y B) - 3y
(C) et ot D) 95y Praae

The time in which radioactive substance becomes half of its initial amount is called -

(A)  average life ) B half ~ life . -
C ' . g\@@ ( ife.. v,
(C) time - period & (D) decay constant
. Q%'
N
@Q
o e 8
35. fa¥i fagaa wa 8 WRfE g W W g @ -
(A) TSR (B) ¥R
C 9= | (D) TR

.ar . ’-'-" e u
he wave front due to-a point Source at a finite distance from the source is -

(A) Spherical (B) Cylindrical
(C) Plane ( Circular
(1171 J
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¥’ -4/ SECTION-B

R %0_¥¥ /Non - Objective Type Questions
ITIRIT W / Short Answer Type Questions

T G 1 B 18 77 Gt &1 el 10 et @ s &1 W @ v 2 9w PatRa
#/

(10x2=20)
Question No. I to 18 are short answer type. Answer any 10 question. Each question carries

Zrﬁarks. (10x2=20)
)ﬁqﬂ TR P o B | gwd S1 Hee @ Rl )

Deﬁr_le electric flux. Wrie its Sl unit.

ﬂqﬂ—éﬁﬁﬁﬂmﬂhﬁvﬁﬁﬂaﬁumﬁaam 2)

Es/t:iblish the relationship between electric field intensity and electri potential.
‘/ﬁwuﬁmﬁmﬂuﬁamﬁmméﬁmmmﬁﬁﬁl (2)
I T AR WA @ AR B A R oy o 9 o enfen e |

The equivalent capacitance of three.equal capacitors connected in series combination is 6yF.

If these three capacitors are odpnected in parallel. find out equivalent capacity of the

combination.

4 3:4 % U H I ARV FHARR BH F G ¥ | T I T S TREE B AT (2)
|

Two resistors of resistance ratio 3: 4 are connected in parallel. Compare the magnitude of heat

(2)

What is Lorentz force?

(11nJ
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."'I
-

yd
‘5-/ W T R 39 A I R ) (2)

What is shunt? Write its two uses.

T R - gt v o S o P, sl @ e @ Rigr @ o e 81 g ()
fgemn &Y
Lenz’s law of electromagnetic induction follows the principl.c of conservation of energy.
Discuss it.

8. WRI WM G O @ AR W ¥ wew wIig oy (2)
Establish the relation between mean value and peak value of AC.

9. s arr aRw § wfer @ s T 87 (2)
What mmffa;—ve and impedance in altemating current ¢ircuit?

10, - — geea T B @ T 3 frd - o )

Write down two properties of &@:Qomagneﬁc wave,

Q . .
11. a‘ruaas:ﬂﬂmaak N +5'm+4mhm§|§wah'amﬁw—§ﬁ%ﬁm (2)
N
ﬁ.ﬁaﬁ;ﬂmﬂ%ﬁ?lmﬁﬂﬁm{aﬁaﬂm

Two thin convex lensof power +5 and +4 diopter are placed co - axially at a distance 10 cm,

Find the focal length of the combination.
12, AP S T Szey S e | @

Differentiate between primary and secondary rainbow,

[117]J
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13, TP & 4R HIEA @ QA vl @ sa |
< ‘
Desctibe the two shortcomings of Bohr model of atom.

| . nai? (2
14, w5 WA e verl 1 oa - Paais 5.2 x 107 Sf) ad &) S e - A T E )
- )
- e its half = life.
The decay cgnsmﬁfur a radioactive substance is 5.2 x 10 per year. Determine its hall =1

15. OR'G AND e &) wewan W g gfras aors o | 2)

Write truth table and Boolean expression of OR and AND gate.

: " (2)
16. R e gaad & R <)
Define flux of electric field on a surface.

17. Ama A ¥ WoT &1 A7 v & qun weaW B 3§ wore @ram2y § ) I AREH A F ' (2)

YT 1 T A B B JUGAAG o BT A T E?
"~

Velocity of light in medium @v and Velocity of light in medium B is 2v. If refractive index
— ‘AO'V —
®

' - ¢ . . . HA
of medium A is Ha a@ﬁ:fractwc index of medium B is s, then what will be value of -t

18, gz S A ol e 4 B ¥ Tw omfE v 9 e @ AraR v w2
7o A e @@ grf?

In a vertically upwards magnetic ficld §, a positively charged particle is projected horizontally

' irect icle?
b eastwards. What will be the direction of force on the particle?

[117) J
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aTH ST ¥/ Long Answer Type Questions
T e 19 W 24 7% O I 5w #1 gw B @ gy @ R0 5 &

PR &1 et 3 weat @ sav &) (3x5=15)

Question Nos. 19 to 24 are long Answer T yre Questions, Each question carries 5 marks.
(Ix5=15)

Answer any 3 questions.

19. faga - fﬁgﬂﬂm%?ﬁqﬁh%fgﬂaﬁaﬂmﬁiﬁlﬂ?wﬁqﬂu v w1 aie® uId (5)
N |

What is electric dipole? Find an expression for electric potential at any point due to an electric

1pole. Imps:;'.'u-'ww.hihurlnppcr.cmn

/°. ﬁwﬁm%ﬁuﬁﬁﬁaﬁammﬁl%ﬁﬂwWw@a@aﬁm%a@mﬁ (5)
3Ry ‘:’1

State afid explain Kirchhoff's laws. Applying this law, obt;in the balanced condition of

_—

)/,hcatslone bridge )
2L/ SGrR & Rigr, am@e v By a1 aui 6 . (5)
-
Describe the principle, constryction dl'ld working of a transformer.

22, mwﬁamwﬁaﬁuqx@?aﬁmwﬁmwmﬁﬁaﬂ?mm &9 (5)

BT AT F | \sz;‘%
With neat diagram desg@& the eonstruction and working of an astronomical telescope and
find its magnifying power.

23, aﬁ—ﬁﬁwwm??ﬁmﬁwmaﬁ—ﬁm?%ﬁﬁwmmaﬁﬁm (3)
Ya@E T Bl T |
What is dispersive power? Find the necessary conditions for obtaining deviation without
dispersion by two thin prisms.

mmgmﬁmmmmnfa—mmﬂmmﬁ| (5)
Explain with the help of a Yabelled diagram the working of a transistor us an oscillator,

-
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